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In place of, giving, etc. — %910 7N NN

Overview

The X nx teaches that we derive that all the MaX pay from 2vn, from the
mw 771y of Aoy owe arn1 nan. o"wa offers his explanation how (in
particular) we derive that the payment of 27 27V is from 2v71. NHOIN
offers a possible alternate explanation and rejects it. Md01N also explains
when it is necessary to have a special T1n°% that 27 2°79 pay from 2v°».

— ([(2,] 72 £22a7) T030Y DIND XYY NAD NN NMEPIN NV P $9904

In s120 we derive that for nea there is a monetary compensation from the

109 of 192 nX NP [and you should chop off her hand] (which refers to
the consequence of causing n12), and the 705 concludes o319 91N R -

— ([x9,] 0> oW) TPIY VIND XY 25N 1IN DITYN 9°9%

And we derive the ruling by nv12 from mnmr 2°7¥ where it is (also)

written 79399 810 KY. The same phrase IV 0190 X? is written both by nw12 and 27y
Tn1r. We compare them, that just as 2m7 227V pay money; the same applies to N2 that
it is a monetary compensation (and not a physical punishment of 7193 nX amep).?

Moo cautions, however -

— Y Sm3m nnn NN MNP NITH NN NIY NI NINY 9999 PN
We cannot assume that this 729 (0170 X?) is a complete w2 79913 (which
would enable us to derive that on»1r 7Y pay from 201 just as DY pays
2w nn), since the X713 does not state that ‘we derive the application of 2v™n

from the words T°3%¥ NI°nN1 NnN; the word 7°v does not appear among the MW 777
words in our x3.* This indicates that the derivation of a 2v"» payment by 7nm7 D77V is
not derived from this mw 771,

mooIn (therefore) cites s""w1 explanation of 2v°» 21’17 by o N1 O 7Y:
— ¥9)2 ¥9) 12 NI ¥/YUA VI D911 ©YTW

And concerning the obligation of 2%amyr 2%t to pay from 207, S"w9

explains that by 72m7 0°7V it is written w213 w51, and this is considered as if it
would be written w51 nnn wol allowing us to derive the obligation of 1111 7Y to pay
Jvnn from the Mw 77713 of NAn.

"In the P09 it says Ty 0WIN R7.

* It would be now possible to assume that we can derive D7 27y from Nw12; just as N2 pays 2w (as
"1 explains) the same should apply to D> 079, since there is this MW 771 of 71°Y 0N K?. Moo will
now reject this.

? Others amend this to read 71°n1.

* The foregoing interpretation of 9o is based on the explanation of the 775 1°27 MmooIN. According to the
X"2w1 however, it seems that based on the >790, it may have been possible to derive the 2 21 by nw1a
from o°nm1r 0>7Y through the w'"13 of DN XY, 071272 W

3 It would seem that 7"y 010 XY is a limited w"7a to teach us (only) that 7192 DR AMXPY means money.
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mooin will now explain the need for any 71° to inform us that 2> 0°7Y pay 20 nn:
— PNV DN MY DY YYD ONX IDIART 1Y T

And it is necessary to say that even if the on1 07V testified concerning

a an " that damaged; where there is no obligation for the Mwn %¥2 to pay ®awmn
(if their 7Y would have been upheld)
— AV MIYYNT 9992512 13577 N3N NYAY 299N IV 11PN IN

Or that the o1 7Y testified that someone owes another a m» where
the ruling (7707 12) is that the MY is only required to pay from the poorest
quality, nevertheless these 211 27y would be required to pay their

accused with 2w (that is what the w"n is teaching us) -
$20910 922NN*T XPAY 0N TYUNINT NP 798 NY 2099 DIINN 2NY IN¥Y ONT

For if the ruling that o»»r 27y pay from 2v»n would be limited only to
cases where the o»n1 0>7v desired to make others pay from ’awa, then
no oo (of a w'"m) would be required to teach this to us, for it could be

derived from the 2%t "wN> 7100 that they are obligated to pay awsan; just as
they wanted to obligate their (falsely) accused to pay 2v°n»n. We must therefore conclude
that the T°% from the MW 771 by 2°nm1r 7Y (as "W explains) comes to obligate them
to pay 2vn even if their accused would not have to pay 2w nn.

Summary
The w"m of TPy 0N XY (by M7 QTN ﬂWD) 1s limited that nwia pays

money (but not that M1 27 pay avn). The 7% of woia wol teaches us
that o171 7Y pay 2w nn even if their falsely accused would not pay 2w an.

Thinking it over

If the obligation is for the 1 to pay from his 2v°»,° then even if the 27y
077 accused someone to pay 2vn, we would still need the w"1a to teach us
that if the 2v°n of the o mmT 07V is better than the 2vn of the accused, they
are required to pay from their 2v°n!’

Conversely if the obligation is to pay from the 2v°» of the ?1°1 then we need
the w"13 in a case where the P17 n>112°7 is like the 2117 2vn. On account of
Nt WRD the 7Y just pay 71727 N2 (for that is the loss they intended to
cause); however on account of the w"13 they have to pay the 2v°n of the P
(for the > is their pra)!'°

% See previous Moo on this X1 7"7 Ty (and the “Thinking it over’).

" They testified (falsely) that someone’s animal ate the crops of his neighbor.

¥ See the xm later 2,1 7.

?OFrom the ont WK P10 we would think that he has to pay only the inferior 2v"n of the pmn.
See 1"nX.
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